1 2 3 4
Select TouchOne or not LCD-W35i-1105
TSXM R _or VDD5V u2 VDD33V
— Lep Tsxm
TSYM R2 OR  optsvm IN out
ARM I 1
TSXP. Bﬂ OR_ icprsxe out GND ==C38
LMI117MPX-3.3 106 c7
Isyp R3L OR  icprsve 104 LED-
LED-
—o ==C3 LED+
L 47uF Leor
ITPXM Bi‘ OR _ icptsxm =
;‘?—' L1 4.7uH
ITPYM ,i OR  icortsvm YY) SwW. NRESET Rl LCD_nRST
TouchOne ‘? LCDCS R2
ITPXP R R icosxe u4 LCD_SCLK R3
a7 D9 LCD_SDI__R4
ITPYP = O0R  icpTsve VIN SwW 1 N[ LED+ VDO
— | 74| VD1
2 1N5819 VD2
Sy |Il R33 VD3
3 — LED- VD4
CTRL FB I —
VDD5V 490K R19R20 VD5
1 VD6
N MP1518 R11 518 [5.1R VD7
3 VD 90K ==cC28 VD8
2 VD: 4.7uF VD9
5 VD: LEDDIM = VD10
6 VD! VD11
7 VD = VD12
s VD! VD13
9 VD6 VD14
10 VD7 VD15
11 Vb |||' VD16
o A VD17
13 — VD pownen BT I> 2 ybis
1% VD: VD19
15 vb VDD33V  VDD33V w DI = ¥D20
16 xg Us ¥pat
VD22
A — ca cs Lo P3.7/CEXOPWMO GND —10 GND__ vo23
VD: — =l P10 PWM1/CEX1/T1/P3.5 HSYNC
19 C13 SPIDIN P11 ECITOP3.4 LCD_SCLK Ro7 VsyNG
0 1 |||' 106 104 105 wourst SPIDO P12 INT1/P3.3 Leb 301 |—|:.‘pR o VoK
21 TP_IRQ 5 - - 6 ONEWIRE
VD17 - P13 INTO/P3.2 Y1
22 VD18 = RS nss PL4ISS XTALL f—o—Mcu x1
23 LCD_EN 7 y 4 McCU x2 2
VD19 1K P1.5/MOSI XTAL2 | VDD33V
24 DownLED g MCU_TXD
VD20 P1.6/MISO TxD/P3.1 VDD33V.
25 LCDPWRZMCU 2__MCU_RXD C52 C53
% VD21 — PL.7/SCLK RXDIP3.0 (—F—=mer 2 20 Lco Toxp
27 VD22 - & VCC T LCD_TSYM 14
2 VD23 LCD_PWR R12 VDDV STCI2LE4052-121-50P20 = = Leo TexM
% ||. Lo Tsve
30 — LCD PWR OR
a1 PWM 8
2 NRESET VD3V | o VDDTP  VDDTP U6 9
Vi T Q SPICLK_ VDDTP 0
33 VSYNC B OSX Vee Dclk S
1 1 n == n
gg HSYNC ca5 B00R@100MHz =1 C47 ADSY+ é: SS 4__SPIDIN VM
pos CL| 104 40106 104 Aposx M Boy |25 R40 GND
3 X ADSY- 3 DL:)SL}( SPIDO 10K GND
38 ?:‘/I c9 Cl0 |C11 __c12 = = f GND PENIRG TP_IRQ
39 P 3.3pF | 100pF | 100pF | 100pF = Xg N3 Vvee
40 - = H—=— IN4 Vref
CON3 —_
- L3 L2
ADSX+ | — | ITPXP ADSX- | e—— | ITPXM
1 ||
c4g  GOOR@IOOMHZ _LCSOBOOR@looMHz
cong 104 104
MCU_RXD 1 | ARMTXD
MCU_TXD 2 ARMRXD pr— —
VDD5V 3 | vobsv = =
GND 4 GND ADSY+ |:|L4 ITPYP ADSY- |:|L6 ITPYM
1 ||
Ha Ha o e ON4 C49  GOOR@IOOMHZ 51600R@I00MHz
-] |- -
CONI CONI CONI CONI = =
‘ 2 3 ‘ 4




